EXERCISES - UNIT 8: LIFE IN THE FUTURE
I.Choose the word which has the underlined part pronounced differently from the rest.

1. a. future 


b. mature 

c. pasture 

d. nature
2. a. chore 


b. technology 

c. much 

d. exchange

3. a. threaten 


b. earth 

c. healthy 

d. breathe

4. a. wipe 


b. allow 

c. powerful 

d. answer

5. a. service 


b. practice 

c. office 

d. device

Key:

	1. B
	2. B
	3. D
	4. A
	5. D


II.Choose a, b, c, or d that best completes each unfinished sentence,
Choose the word which is stressed differently from the rest.

1. a. different 

b. terrorist 

c. contrary 

d. domestic

2. a. future 


b. burden 

c. device 

d. certain

3. a. development 

b. security 

c. pessimistic 

d. particular

4. a. threaten  

b. appear 

c. modern 

d. instance

5. a. experience 

b. technology 

c. environment 
d. optimistic

6. a. powerful 

b. medical  

c. dangerous 

d. computer

7. a. influence 

b. confident 

c. disappear 

d. terrorism

8. a. corporation
 
b. electronic 

c. responsibility 
d. electricity

9. a. ahead 


b. system 

c. paper 

d. shuttle

10. a. history 


b. depression 

c. invention 

d. completely

Key: 

	1. D
	2. C
	3. C
	4. B
	5. D
	6. D
	7. C
	8. C
	9. A
	10. A


III.Choose a, b, c, or d that best completes each unfinished sentence, substitutes the underlined part, or has a close meaning to the original one.

11. Many teenagers show signs of anxiety and _______ when being asked about their future.

a. depress 

b. depression 

c. depressing 

d. depressed

12. Constant _______ of attack makes everyday life dangerous here.

a. threat 

b. threaten 

c. threatening 
    
d. threateningly

13. No one can predict the future exactly. Things may happen _______.

a. expected 
b. unexpected 

c. expectedly 
  
d. unexpectedly

14. Someone who is _______ is hopeful about the future or the success of something in particular.

a. powerful 

b. optimistic 

c. stagnant 

d. pessimistic

15. There will be powerful network of computers which may come from a single computing _______ that is worn on or in the body.

a. device 

b. machinery 

c. equipment 

d. vehicle

16. A _______ is a spacecraft that is designed to travel into space and back to earth several times.

a. plane 

b. corporation 

c. telecommunication 
d. shuttle

17. An economic _______ is a time when there is very little economic activity, which causes a lot of unemployment and poverty.

a. improvement 
b. depression 

c. development 

d. mission

18. In the future many large corporations will be wiped out and millions of jobs will be lost.

a. companies 
b. services 

c. supermarkets 
d. farms

19. The more powerful weapons are, the more terrible the _______ is.

a. creativity 

b. history 

c. terrorism 

d. technology

20. The medical community continues to make progress in the fight against cancer.

a. speed 

b. expectation 

c. improvement 
d. treatment

21. Let's put off that meeting to next Monday.

a. postpone 
b. schedule 

c. arrange 

d. appoint

22. A nuclear station may take risk going off due to unexpected incidents.

a. demolishing 
b. exploding

c. developing 

d. running

23. She is looking _______ a new place to live because she does not want to depend _______ her parents any more. 

a. for / on 

b. after / with 

c. up / forward 
d. at / into

24. I was brought _______ in the countryside by my aunt after my parents had pass _______.

a. on / over 

b. for / on 

c. on / off 

d. up / away

25. Due to industrialization, we have to cope _______ the fact that many species are _______ danger _______ extinction.

a. over / at / for 
b. at / upon / over 
c. for / on / with    
d. with / in / of

26. Boys! Put your toys ______. It is time to go to bed. Don't stay _____ late.

a. off / on  

b. away / up 

c. down / off 
      
d. around/ for

27. She intended to quit her job to stay _______ home and look _______ her sick mother.

a. in / at 

b. at / after 

c. for / over 

d. up / on

28. He is very worried _______ his new job because he is not quite prepared _______ working.

a. on / over 

b. to / off 

c. about / for 

d. in / at

29. Instead _____ petrol, cars will only run ____ solar energy and electricity.

a. of / on 

b. for / by 

c. in / over 

d. from/ upon

30. She has a promising future ahead _______ her.

a. for 

b. from 


c. on 


d. of

31. What are your plans for _______ future?

a. a 

b. an 


c. the 


d. Ø

32. Up to now, _______ space exploring still remains _______ very risky, complex, and expensive endeavor.

a. the / the 

b. a / the  

c. a / Ø   

d.  Ø / a

33. Within _______ few years, _______ private space travel has gone from concept to reality.

a. Ø / an 

b. the / the 

c. the / a 

d. a / Ø

34. With its long days, lack of _______ atmosphere, and wide-open spaces, _______ moon would also make an ideal place to put massive solar power plants.

a. Ø / a 

b. an / the 

c. the / a 

d. an / Ø

35. _______technology is already present in the form of computers, printers, scanners, handheld devices, wireless technologies, and Internet connections.

a. A 

b. An 


c. The 


d. Ø
36. In the future, the number of tiny but _______ computers you encounter every day will number in the thousands, perhaps millions. 

a. power 

b. powerful 

c. powerfully 

d. powered

37.Advances in computing _______, from processing speed to network capacity and the internet, have revolutionized the way scientists work.

a. technology 
b. technological 
c. technologically 
d. technologist

38.What will the relationship between computing and _______ bring us over the next 15 years?

a. science 

b. scientific 

c. scientifically 

d. scientist

39.Someone who is _______ thinks that bad things are going to happen.

a. optimistic 
b. pessimistic 

c. threatened 

d. hopeful

40.Domestic chores will no longer be a burden thanks to the inventions of laborsaving devices. 

a. Official 

b. Household 

c. Schooling 

d. Foreign

41._______ is the technology of sending signals and messages over long distances using electronic equipment, for example by radio and telephone.

a. Telecommunication 

b. Telegraph 
c. Multifunction 
d. Information technology

42.Peter was asked to _______ to a newspaper article making predictions for technological progress in 10 years.

a. expect 

b. invent 

c. develop 

d. contribute

43.Strict ___ measures are in force in the capital to protect it from terrorism.

a. scientific 

b. normal 

c. transportation 
d. security

44.The ______ of the future will no longer be remedial. It will be preventive.

a. communication 
b. education 

c. medicine 

d. technology

45.Doctors and pharmacists have to assume _______ for human life.

a. responsibility 
b. achievement 

c. optimism 

d. aspect

46.If you have ever watched television, you have seen plenty ___ drug ads.

a. with 

b. of  


c. for 


d. about

47.The space shuttle crashed and went _______ in flames.

a. of 

b. for 


c. over 


d. off

48.Elevators in tall building make the top floors accessible _____ everybody

a. to 

b. with 


c. about 

d. at

49.While I am waiting _______ my bus, I often listen _______ music.

a. on / at 

b. for / to 

c. toward / about 
d. upon / in

50.Those spacecrafts are used ______ taking photographs _______ space.

a. about / through 
b. for / in 

c. of / at 

d. in / off

51.Will you take care _______ my little dog when I am _______ business?

a. through / away 
b. about / at 

c. for / over 

d. of / on

52.According _______ Bill, there's something wrong _______ my computer.

a. after / for 

b. on / about 

c. to / with 

d. upon / at

53.He depends _______ his sister _______ assistance.

a. to / from 

b. from / in 

c. on / for  

d. at / with

54.By 2015, it will be widely accepted that schools and pre-schools have _______ extremely important role to play in______ future of our world.

a. an / a 

b. an / the 

c. the / the 

d. Ø / Ø

55.On _______ Internet and with cable television w e can select information from _______ wide variety of sources.

a. the / a 

b. an / the 

c. the / Ø 

d. Ø / the 

56.There is one _______ thing we can be sure: _______ energy will be more challenging and more important in the future.

a. the / Ø 

b. the / an 

c. a / the 

d. Ø / Ø

57._______ Europe and Asia are coming to rely more and more on ______ nuclear generation.

a. An / a 

b. Ø / Ø 

c. The / the 

d. The / a

58.He usually travels to _______ Philadelphia by _______ train.

a. Ø / Ø 


b. the / a 
c. the / the 

d. Ø / a

59.You frequently see this kind of violence on _______ television.

a. a 

b. an 


c. the 


d. Ø

60.How do we know what _______ universe is supposed to look like?

a. a 

b. an 


c. the
 

d. Ø

61.There is a wide _______ of computers in that shop for you to choose.

a. vary 

b. various 

c. variety 

d. variously

62.There are several places where residents face the threat of _______ every day.

a. terrorist 

b. terrorism 

c. terrorize 

d. terror

63.Many people think that in some more years we will see the complete _______ of newspapers and magazines due to the Internet.

a. disappear 
b. disappearance 
c. appear 

d. appearing

64.A specific area of biotechnology that shows great promise for treatment and cure of life- _______ diseases.

a. developing 
b. threatening 
c. hoping 

d. fitting

65.Telecommunication is bound to have a huge influence on various aspects of our lives.

a. depression 
b. technique 

c. expect  

d. impact 

66.We sometimes go away from the city to the countryside for a ______ of fresh air.

a. feeling 

b. sip 


c. swallow 

d. breath

67.The idea of building a _______ with human intelligence is not only ambitious but also highly unconventional. 

a. robot 

b. corporation 

c. line 


d. road

68.Washing machines, vacuum cleaners, and dish washers are labor _______ devices which help us do housework easily and quickly.

a. improving 
b. making 

c. saving 

d. employing

69.Those companies were closed due to some seriously financial problems.

a. taken off

b. put away 

c. wiped out 

d. gone over

70.The computer allows us to work fast and _______.

a. efficiently 
b. differently 

c. variously 

d. freshly

71.They arrived _______ that train station late because their taxi had broken _______.

a. at / down 
b. for / off 

c. on / over 

d. on / up 

72.Those workers are in difficulty because wage increases cannot keep up _______ inflation.

a. with 

b. for 


c. over 


d. on

73.They argued _______ us _______ the problem last night, but we could not  find _______ the solution.

a. with / about / out    b. on / for / off 
c. upon / with / in 
d. to / on I up

74.Williams is working _______ an export company. He intends to apply _______ another job because he is not satisfied _______ the salary.

a. in / on / at 
b. for / for / with 
c. at / out / into     
d. from/ on/ for

75.Is Miss Wilson very fond _______ French food? - No, she is not used _______ having French food.

a. over / with 
b. of / to 

c. off / for 

d. in / about

76.Look _______! The tree is going to fall. 

a. over 

b. off 


c. in 


d. out

77.I think we maybe run _______ natural resources some day.

a. in to 

b. up to 

c. out of 

d. away from

78._______ whom do these English books belong?

a. From 

b. To 


c. For 


d. With

79.Thanks _______ the inventions _______ labor-saving devices, women have more free time to take part _______ social work.

a. through / over / for 

b. on / from / with
c. forward / for / from 

d. to / of / in

80.It is predicted that _______ computing technology will increase in value at _______ same time it will decrease in cost.

a. Ø / the 

b. a / the

 c. the / a 

d. a / Ø

81._____ computers will continue to get smaller, faster and more affordable.

a. a 

b. an

 
c. the 


d. Ø

82.____ aspirin is recommended to many people as _____ good pain killer.

a. An / the 

b. The / Ø 

c. Ø / a 


d. A / the 

83.Many people believe that _______ human beings will never used up all _______ natural resources on earth. 

a. Ø / the 

b. the / a 

c. the / Ø 

d. a / the

84.Like other forms of _______ energy, natural gas may be used to heat homes, cook food, and even run _______ automobiles.

a. Ø / the 

b. an / the 

c. the / an 

d. Ø / Ø

85.I told Mom we would be _______ home in _______ hour or so.

a. the / Ø 

b. a / the 

c. Ø / an 

d. the / a

Key:

	11.B
	12.A
	13.D
	14.B
	15.A
	16.D
	17.B
	18. A
	19. C
	20. C

	21. A
	22. B
	23. A
	24. D
	25. D
	26. B
	27. B
	28. C
	29. A
	30. D

	31. C
	32. D
	33. D
	34.  B
	35. D
	36. B
	37. A
	38. A
	39. B
	40. B

	41. A
	42. D
	43. D
	44. C
	45. A
	46. B
	47. D
	48. A
	49. B
	50. B

	51. D
	52. C
	53. C
	54. B
	55. A
	56. D
	57. B
	58. A
	59. D
	60. D

	61. C
	62. B
	63. B
	64. B
	65. D
	66. D
	67. A
	68. C
	69. C
	70. A

	71. A
	72. A
	73. A
	74. B
	75. B
	76. D
	77. C
	78. B
	79. D
	80. A

	81. D
	82. C
	83. A
	84. D
	85. C
	
	
	
	
	


IV.Fill in each numbered blank with one suitable word or phrase.

A. Over the next 20 to 50 years, it will become harder to tell the (1) _____ between the human and the machine. All, body (2) _____ will be replaceable. Computers will function like the human (3) _____ with the ability to recognize feelings and respond in a feeling way. They will then produce fake people. We will then be able to create a machine duplicate of ourselves (4) _____ we will appear to be alive long after we are dead. Maybe a few decades later, a way will be found to transfer our spirit, including our (5) _____ and thoughts, to the new body. Then we can choose to live for as (6) _____ as we want. It might be expensive. When it becomes possible to do a spirit transfer, they will figure out (7) _____ to do them automatically. So we will be able to reside within whichever duplicate we want, whenever we want. 

Miniature robots will be built to travel through your blood (8) _____ and repair damage. Also, larger robots will be used when you are sick. When you have an upset stomach, you will (9) _____ a very small cherry tasting robot which will travel through your stomach taking video of the mess. It will be set up like a video game, so you can control the exploring and the selection of images. Then you can replay the video to help a doctor (10) _____ your illness, or to prove to your employer that you really, were sick. 

1.a. variety 


b. change 

c. difference 
     
d. appearance

2.a. region 


b. place 

c. role 


d. parts

3.a. brain 


b. limb 

c. skull 

d. liver

4.a. such 


b. as 


c. so 


d. but

5.a. experience 

b. memories 

c. actions 

d. health

6.a. long 


b. far 


c. much 

d. soon

7.a. what 


b. when 

c. why
 

d. how

8.a. line 


b. creek 

c. stream 

d. river

9.a. swallow 


b. chew 

c. vomit 

d. drink

10.a. notice 


b. diagnose 

c. watch 

d. observe

Key:

	1. C
	2. D
	3. A
	4. C
	5. B
	6. A
	7. D
	8. C
	9. A
	10. B


B.Robots are already a part of our lives. Industrial robots widely used in manufacturing. Military and police organizations use robots to (1) _____ in dangerous situations. Robots can (2) _____ be found from vacuuming the floors in your home to exploring the surface of Mars. 

Within a few more years a whole host of robotic adaptations will be running many aspects' of our lives. "I think in (3) _____ next thirty years, we are going to see a transformation between the industrial sorts of robots to personal robots," says Brooks from Brooks' company, IRobot, markets floor cleaning robots for homes.

"The advances in robotics make it clear that many household (4) ____ will be easily handled by a robot in the near future," says Bob Christopher, who works for a robotic technology company that is marketing a toy robot (5) _____ Pleo. "We have only one child but I could easily (6) _____ five or six robots in the home as well."

Within the next 10 years one will be able to (7) _____, to lease or purchase a domestic robot that not only does the household cleaning and prepare and serve his meals, (8) _____ also can carry him to the bathtub if he cannot walk.

Demographic changes, such as a rapidly aging population and a shrinking workforce, will drive forward the application of new (9) ___. There is going to be a real pull for increasing the productivity of working age people. So there is going to be a real push for robotics to help people. (10) _____ addition it is likely that in the near future we will see robots- taking on some of the care functions elderly, or long-term ill people.

1.a. assist 


b. increase 

c. make 

d. create

2.a. so 



b. either 

c. too 


d. also

3.a. a 



b. an 


c. the 


d. Ø

4.a. aspects 


b. chores 

c. works 

d. jobs

5.a. which called 

b. called 

c. calling 

d. that called

6.a. hope 


b. think 

c. imagine 

d. look

7.a. afford 


b. attain 

c. offer 

d. affect

8.a. either 


b. as 


c. and 


d. but

9.a. technology 

b. technological 
c. technique
 
d. technician

10.a. At
 

b. In 


c. For 


d. With

Key:

	1. A
	2. D
	3. C
	4. B
	5. B
	6. C
	7. A
	8. D
	9. A
	10. B


C.Robots already have a (1) _____ role in medicine. Robots are helping doctors achieve more (2) _____ in the operating room, performing safer, less invasive techniques. For example, The Da Vinci Surgical System by Intuitive Surgical helps simplify complex procedures, and lets surgeons work through much smaller incisions, thus making patient (3) _____ easier and quicker.

Advances in bio-robotics are leading to even more and more applications in surgery (4) _____ robots have the potential to perform better than human surgeons in certain respects.

The pace of technological change is rapid, and it is easily possible to foresee a time (5) _____ robots will become our teachers, policemen and even soldiers.

Robots will be better soldiers than humans. They can strictly (6) _____ the rules of engagement, codes of conduct, and war protocols (7) ___ better than more passionate humans, resulting (8) ____ a reduction of war crimes.

Most robots in the future will do jobs which are the sorts of things that people used to do. They will take away a lot of the mundane physical jobs certainly.

Some (9) _____ predict that it is not just manual jobs that will be replaced. The more advanced the technology becomes, the more it forces us to (10) _____ on those things that are fundamentally human.

1. a. pessimistic 

b. disappointed 
c. significant 

d. minor

2. a. difficulty 

b. mistake 

c. precision
 
d. decision

3. a. recovery 

b. discovery 

c. illness 

d. diseases

4. a. although 

b. because 

c. if 


d. however

5. a. when 


b. which 

c. that 


d. where

6. a. chase 


b. pursue 

c. admit 

d. follow

7. a. more 


b. many 

c. as 


d. much

8. a. for 


b. in 


c. with 


d. about 

9. a. managers 

b. agriculturalists
c. experts 

d. runners

10. a. look 


b. spend 

c. focus 

d. achieve

Key:

	1. C
	2. C
	3. A
	4. B
	5. A
	6. D
	7. D
	8. B
	9. C
	10. C


V. Read the passage carefully and choose the correct answer.

In the future, maybe all cars that run on petrol will be replaced by solar cars, which have been around for a while, but with recent developments in solar car design and the measurement of photovoltaic cells becoming smaller, the dream of a truly efficient solar car is more reality than fantasy. A solar car is a vehicle powered by photovoltaic cells, also called solar cells, which convert sunlight (light energy) into electrical energy. As a source of energy on earth, there is nothing like the sun: in a mere one thousandth of one second (.001), the sun emits enough energy to fulfill our planet's energy needs for the next 5,000 years. It is a staggering fact, and an exciting one. Since the energy from the sun is responsible for renewable resources such as wind, tides, and heat, solar energy seems to offer the brightest future for not only cars, but for the entire energy crisis. Despite the appearance that solar energy may be the least feasible among the current crop of alternative fuel propositions, new solar powered devices and more specifically solar powered cars are beginning to be developed. How do Solar. Cars work?

The photo-voltaic cells absorb photons from sunlight. This action generates heat, which the cells then convert into electrical energy and stores in an on-board battery. This process of conversion is called the photovoltaic effect. Not surprisingly, such a vehicle has zero emissions, and is very environmentally friendly. Unfortunately, at the moment photovoltaic cells are extremely inefficient, yet as time progresses the efficiency of these cells will grow. This will make solar energy and solar cars the fuel and car of the future-a closer reality.

1. According to the text, _______.

a. up to now, we have designed some solar cars

b. solar cars have been very .popular for many years

c. we have not produced any solar cars yet

d. solar cars are not as much appreciated as other kinds of car

2. A solar car is supplied power from _______.

a. gas 

b. petrol 

c. photovoltaic cells 
d. electricity

3. Which can not help us to solve the problem of energy crisis?

a. wind 

b. tide 


c. the sun 

d. heat from the moon

4. According to the text, _______

a. no powered solar devices have been developed so far

b. besides solar car, we have also developed solar powered device

c. solar energy plans are more feasible than wind energy plans

d. tide can supply more energy than the sun

5. The photovoltaic effect is _______.

a. the process of operating a solar car

b. the process of absorbing photons from the sun

c. the developing of solar cars and solar powered devices

d. the converting of heat from the sun into electricity

Key:

	1. A
	2. C
	3. D
	4. B
	5. D


UNIT 8 – LIFE IN THE FUTURE

PRACTICE TEST 
A. PHONETICS

I.Pick out the word whose underlined part is pronounced differently from that of the others.

1.
A. question

B. corporation

C. attention

D.cpntribution

2.
A. fitted

B. remembered
C. contributed

D.resulted
3.
A. nowadays
B. millions

C.jobs


D.thanks
4.
A.huge

B. result

C. computer

D.use

5.
A. happen

B. travel

C. various

D.gas

II.
Pick out the
word that has the
stress pattern differentfrom that of theothers.




6.
A. invention
B. security

C. however

D.disappear

7.
A. expected

B. remember

C. influence

D.efficient

8.
A. electricity
B. environment
C. development
D.domestic

9.
A. device

B. micro

C. ahead

D.believe

10.A. achieve

B. danger

C. question

D.burden

B. VOCABULARY AND STRUCTURE

I.Choose the most suitable word or phrase (A, B, C or D) to complete each sentence.

11. I have absolutely no doubt........the innocence of the accused.

A. over

B. about

C. on


D. with

12. The visit of the president will increase the........between the two countries.

A. peace

B. understanding
C. quietness 

D. knowledge

13. This is the oldest building........the village.

A. of


B. by


C. to


D. in

14. The newspaper report.contained........important information.

A. many

B. another

C. a lot of 

D. an

15. He always did well at school........having his education disrupted by illness.

A: on account of 
B. in addition to
C. in spite of 

D. even though

16. Lee is........at the local Chinese restaurant. Four waiters work therealtogether.

A. a waiter 

B. an waiter 

C. the waiter 

D. waiter

17. In some parts of the world the indigenous population has been completely

A. wiped out 

B. w iped up 

C. wiped away
D. wiped off

18. Did you see that fascinating wildlife programme........television last night?

A. at


B. in


C. on 


D. by

19. There's someone at the door.........it.

A. I'm answering 
B. I answer

C. I answered 

D. I'll answer

20. The beach was so crowded the other day that we........difficulty finding anempty spot.

A. have 

B. had


C. have had 

D. have been having

21. I've put Mr Martin's papers in your green file,........is on your desk.

A. Ø 


B. which

C. that 


D. whose 

22. Galileo's observations of the phases of Venus proved........formed thecentre of the planetary system.

A. that the sun
B. sun


C. it is the sun
D. the sun is

23. She is the most........manageress we have ever had.

A. efficient 

B. effective

C. working hard 
D. good

24. After a long and exhausting journey, they arrived home 

A. by the end 

B. at the end 

C. finally

D. in the end

25. I'm trying to learn........Japanese. I'm having........lesson tomorrow.

A. the - a 

B. Ø - the

C. Ø - a

D. the - Ø

II. Choose the underlined part among A, B, C or D that needs correcting.

26. I (A) had(B) a sandwich (C) for(D) the lunch today.

27. (A) Do you have (B) to wear(C) an uniform (D) at work?

28. (A) Shall we visit George (B) in Spain (C) in next April, (D) John?

29. I think (A) I’ll be (B) on(C) a Moroccan beach (D) in my birthday. 

30. I (A) normally go to (B) the south of (C) the France(D) in the winter.

III. Choose the one option (A, B, C or D) corresponding to the best sentence that is made up from the sets of words and phrases given.

31. museum / open /10.00 a. m. /6.00 p. m

A. The museum opens from 10.00 a.m. to 6.00 p.m.

B. The museum opens from 10.00 a.m. and 6.00 p.m.

C. The museum opens during 10.00 a.m. and 6.00 p.m.

D. The museum opens within 10.00 a.m. and 6.00 p.m. 

32. they / live / Paris / area / near / River Seine
A. They live at Paris in an area near the River Seine. 

B. They live in Paris.in an area near River Seine.

C. They live in Paris in an area near the River Seine.

D. They live in Paris in the area near River Seine. 

33. she / come/ Brazil / but / living / U.S.A /moment

A. She comes in Brazil, but she's living in the U.S.A at the moment.

B. She comes from Brazil, but she's living in the U.S.A at the moment.

C. She comes from Brazil, but she's living irr U.S.A at the moment.

D. She comes from Brazil, but she's living in.the U.S.A at moment.

34. school-leavers / choose / college / employment / immediate

A. School-leavers can choose either college or immediate employment. 

B.School-leavers can make,a choice among college and employment immediately. 

C. School-leavers can choose either college and employment immediately. 

D. School-leavers can make an immediate choice of neither college nor employment.

35. hilltop have / good / view / our village

A. The hilltop can make our village views better.

B. From the hilltop, our village can be well viewed.

C. From the hilltop, our village can havč a better view.

D. From the hilltop, we can have a better view of our village.

C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.

HOW TRANSPORTATION AFFECTS OUR LIFE?

Without transportation, our modern society could not (36)......... Wewould have no metal, no coal and no oil nor would we have any (37).......made from these materials.. (38).......we would have to spend most of our time (39)........food and food would be (40).....to the kinds that could grow in the climate and soil of our neighborhoods.  Transportation also (41)........our lives in other ways. Transportation can speed a doctor to the (42).......of a sick person, even if the patient lives on an isolated farm. It can take police to the (43).......of a crime within moments of being notified. Transportation (44).......teams of athletes to compete in national and international sports contests. In time of (45).......transportation can rush aid to persons in areas stricken by floods, famines and earthquakes.   

36. A. happen 

B. exist 
C. take place 

D. establish

37. A. production 
B. producers 
C. productivity 
D. products

38. A. Besides 
B. However 
C. Although 

D. Even

39. A. buying 

B. taking 
C. raising 

D. paying

40. A. related 

B. limited 
C.focused 

D.connected

41. A. makes 

B. impacts 
C. affects 

D. effects

42. A. side 

B. way 
C. body 

D. part

43. A. location 
B. scene 
C. place 

D. site

44. A. brings 

B. gets 
C. fetches 

D. enables

45. A. disasters 
B. wars 
C. accidents 

D. problems

II. Read the passage below and choose the best answer (A, B, C or D) to each question. 

PLANET EARTH
  The planet Earth is 4,600 million years old. It is difficult for us to think about such an enormous length of time because it has little meaning for us. We can however, simplify the idea to make it more understandable. We can compare the planet Earth to a person of forty-six years of age.

  Nothing is known about the first seven years of this person's life. Very little information exists about the middle period either. It was only at the age of forty-two that the Earth began to flower.

  Dinosaurs and great reptiles did not appear until one year ago, when the planet was forty-five. Mammals only arrived eight months ago. In the middle of last week, man-like apes became ape-like men and began to communicate with each other. Last weekend, the Ice Age covered the Earth.

  During that short time, modern man has made a rubbish tip of the Earth. In one minute, he has increased his numbers to terrible proportions, and has caused the death of hundreds of species of animals. He has robbed and destroyed the planet in search for fuels. Now he stands like a violent, spoilt child, delighted at the speed of his rise to power, on the edge of the final mass destruction and of killing all the life which exists in the solar system.

46. The passage tells us that......

A. a great deal is known about how the Earth was created

B. life on earth began relatively recently

C. more is known about the first part of the Earth's life than the middle part

D. scientists are well-informed about the middle part of the Earth's life

47. We are informed by the author that........

A. the dinosaurs appeared during the middle period 

B. mammals and great reptiles both appeared at the same time

C. there were jpore than forty-five kinds of great reptiles

D. ape-like men appeared before that last Ice Age 

48. The author is mainly interested in.........

A. the time when man first evolved from apes

B. what has happened since the Industrial Revolution

C. the effects of farming

D. the period before the last Ice Age

49. It would appear that the main-danger ahead is that.........

A. man will destroy everything on Earth 

B. man will use up all the fuels 

C. there will be a population explosion 

D. more species of animal may die out 

50. The author's general view of man seems to be that........

A. he has no right to be so destructive

B. he has been the most successful animal

C. he will be able to control the environment

D. he has learned a lot from past mistakes

The End
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Unit 10: ENDANGERED SPECIES

I. PRONUNCIATION

Choose the word whose main stress is put syllable from that of the others in the group. 

1. 
A. agency 
B. awareness 
C. protection 
D. endanger


2.
A. classify 
B. seriously 
C. identify 
D. temperature

Choose the word whose underlined part is pronounced differently from that of the others in the group. 

3.
A. remind 
B. driven 
C. derive 
D. survive

4.
A. special 
B. specify 
C. species 
D. spectrum

5.
A. reduced 
B. caused 
C. damaged 
D. preserved
II. GRAMMAR & VOCABULARY 

Choose the word or phrase (A, B, C or D) that best completes each sentence. 

6. Development of the area would 
wildlife. 


A. danger 
B. dangerous 
C. endanger 
D. dangerously 

7. Migrant workers are 
to exploitation. 


A. eager 
B. vulnerable 
C. available 
D. considerate 

8. He 
great pleasure from his work. 


A. derived 
B. survived 
C. revived 
D. devised 

9. The sea turtle is among the
species; it is m danger of extinction. 


A. common 
B. normal 
C. abundant 
D. rare 

10. In times of
I know which friends I can turn to. 


A. pleasure 
B. joy 
C. fortune 
D. crisis 

11. We
open the lion's cage. It is contrary to Zoo regulations. 


A. must 
B. mustn't 
C. needn't 
D. should 

12. I 
arrive on time, so please start dinner without me. 


A. could 
B. may 
C. may not 
D. should 

13. "
you hand that book, please?" "Sure. Here it is." 


A. Could
B. Should
C. Must
D. May

14. "Are these gloves necessary?" "Yes. You 
use this chemical without gloves. It will burn your skin." 


A. must not 

B. don't have to 



C. could not 

D. need not 

15. You 
clean the windows. The window-cleaner is coming tomorrow. 


A. don't have 
B. must 
C. mustn't 
D. needn't 

16. Carl 
studied harder; he failed the test again. 


A. must have 

B. should have 


C. could have 

D. needn't have 

17. "Would you like to go with me to the Williams' wedding next month?" "I'm not sure.
I
be too busy with school work." 


A. will 
B. might 
C. maybe 
D. should 

18. We 
to take a taxi. Otherwise we'll be late. 


A. would rather 

B. had better 


C. must have 

D. will have 

19. These pills will surely
your pam. 


A. ease 
B. easy 
C. easily 
D. easiness 

20. His health would be improved
. 


A. if he continued to smoke heavily 


B. unless he stopped smoking heavily 


C. if he gave up smoking 


D. if only he doesn't smoke any more . 

21. 
to the skin, they eventually got to the station. 


A. Soaked 
B. Soaking 
C. To soak 
D. Having soaked 

22. It's no good
to him; he never answers letters. 


A. write 
B. to write 
C. writing 
D. for writing 

23. 'How can I get to the post office?' 'Turn right 
the end of this street and you'll see it in front of you.' 


A. of 
B. at 
C. on 
D. in 

24. I've lost the key. I ought 
it in a safe place. 


A. that I put 
B. to be putting 
C. to have put 
D. to put 

25. I don't know why Tom is always 
a hurry. 


A. at 
B. on 
C. in 
D. with 

26. Mark failed his driving test for the third time 
. 


A. even though his many hours of practice 


B. because of his practicing very hard 


C. instead of having practiced very hard 


D. despite his many hours of practice 

27. By the time we reach New York on Friday, we 
over 60 hours traveling. 


A. have spent 

B. will spend 


C. will have spent 

D. will be spending 

28. Have you seen any good films 
? 


A. already 
B. ever 
C. lately 
D. now 

29. Can I look
a word in your" dictionary? I left mine at home. 


A. up 
B. in 
C. on 
D. after 

30. I couldn't understand' what he said, and
.


A. so could Stella 

B. neither could Stella 


C. neither couldn't Stella 
D. Stella couldn't, too 

31. All things 
, Professor Taylor is the best instructor I've ever had. 


A. considered 
B. to consider 
C. considering 
D. considerable

32. It's getting more and 
to find a cheap apartment. 


A. difficult 

B. more difficult 


C. less difficult 

D. more difficult than 

33. Tam, the boy who sat beside me in class, used to wear
shirt to school. 


A. an old cotton white 
B. a white cotton old 


C. a cotton old white 
D. an old white cotton 

34. The sun was shining
I woke up this morning. 


A. if 
B. because 
C. unless 
D. when 

35. He's very busy with his business. He has
time for his family. 


A. a few 
B. a little 
C. much 
D. little 

III. Choose the underlined part in each sentence that should be corrected. 

36. Scientists won't be able to investigate the seabed if there were no modern devices. 

37. People are surprising that Saudi Arabia has such a small population in comparison to its land and size.
38. The police prevented the motorist to drive home drunk. 

39. A dangerously situation was created by the bad roads. 

40. Winnings from a lottery ticket have brought people wealthy overnight.

IV. Choose the item (A, B, C or D) that best completes the unfinished statement (or best answers the question) about each passage. 

In 1782, the bald eagle was chosen as the national bird of the United States because it is a bird of strength and courage, and was found all over North America and only in North America. 

But a little· over 200 years later, the bald eagle had almost disappeared from the country. In 1972, there were only 3,000 bald eagles in the entire United States. The reason for the bird's decreasing population was pollution, especially pollution of the rivers by pesticides. Pesticides are chemicals used to kill insects and other animals that attack and destroy crops. Unfortunately, rain often washes pesticides into rivers. Pesticides pollute the rivers and poison the fish. Eagles eat these fish and the poison affects their eggs. The eggs have very thin shells and do not hatch. Eagles only lay only two or three eggs a year. Because many of the eggs did not hatch and produce more eagles, the number of eagles quickly became smaller. 

Today, the American government and the American people are trying to protect the bald eagle. The number of bald eagles is increasing. It now appears that the American national bird will survive and remain a symbol of strength and courage. 

41. The bald eagle was in danger of extinction mainly because
. 


A. they used to kill insects 


B. the rivers were polluted by pesticides 


C. they didn't lay enough eggs 


D. it was chosen as the national bird 

42. One eagle can lay
. 


A. one or two eggs every six months 


B. one or two eggs a year 


C. two or three eggs every six months 


D. two or three eggs per year 

43. The number of bald eagles is now 
. 


A. becoming larger 

B. decreasing 


C. becoming smaller 
D. in great danger of extinction 

44. The bird lays eggs, and then the eggs 
. 


A. produce 
B. 'break 
C. protect 
D. hatch 

45. The bald eagle's main food is 
. 


A. insects
B. grass 
C. fish 
D. poison 

V. Choose the word or phrase (A, B, C, or D) that best fits each space in the following passage. 

Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (46)____________if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds, (47)___________as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat - the place where they live - is disappearing. More (48)_____________is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals pollute (49)______________environment and harm wildlife. The most successful animal on earth - human beings - will soon be the only ones left, (50)_____________we can sotve this problem. 

46. 
A. extinct 
B. lost 
C. empty 
D. disappeared 

47. 
A. such 
B. where 
C. like 
D. or 

48. 
A. area 
B. earth 
C. land 
D. soil 

49.
A. the 
B. that 
C. an 
D. a 

50. 
A. because 
B. however 
C. if 
D. unless 
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UNIT 10  ~  ENDANGERED SPECIES
PRACTICE TEST
A. PHONETICS  

I. Pick out the word whose underlined part is pronounced differently from that of the others.     

1. A. threatened

B. provided

C. identified

D. disappeared
2. A. globe 


B. commerce 

C. biologist 

D. loss

3. A. destruction 

B. product 

C. vulnerable 

D. humans

4. A. benefit 


B.extinct 

C. temperature 
D. wetland

5. A. commercial 

B. chemical 

C. agriculture 

D. conserve

II. Pick out the word that has the stress pattern different from that of the others.      

6. A. animal 


B. medicine 

C. development 
D. government

7. A. exploitation 

B. disappearance 
C. conservation 
D. temperature

8. A. several 


B. protection 

C. different 

D. habitat

9. A. commercial 

B. valuable 

C. mankind 

D. agency

10. A. available 

B. extinction 

C. survival 

D. introduce

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence.

11. Put some oil on that tight nut; that........do the trick.

A. might


B. must

C. had to

D. could

12.The most serious problem of modern times is that man is destroying the natural.........of the earth and transforming huge areas into wasteland. 

A. resources


B. sources

C. sorts

D. origins

13.Only by reproducing at a tremendous rate do many plant and animal species manage.........in the sea.

A. surviving


B. to survive

C. living

D. to be alive

14.The life of a spy is fraught with.........

A. endanger


B. danger

C. dangerous

D. dangerously

15.I hear Emma's been offered a place at university. She.........be reallypleased.

A. can


B. might

C. may

D. must

16.Before Alexandre Fleming discovered penicillin, many people died.........

A. infected with simple bacteria


B. from simple bacterial infections

C. infections were simple bacteria


D. infecting of simple bacteria

17.As the drug took.........the patient became quieter.

A. force


B. influence

C. action

D. effect

18.Don't leave paraffin heaters in a draught or where they're..........

A. dangerously knocked over


B. in danger knocked over

C. in danger of being knocked over


D. in danger of knocking over

19.The tenant.........be prepared to decorate the property in accordance withthe terms of the agreement.

A. may

B. ought


C. must

D. have to

20.He had to leave early, .........he?

A. didn't

B. mustn't


C. hasn't

D.shouldn't

21.Hair colour is one of the most obvious characteristics to be used to.........people.

A. recognise

B. identify


C. realise

D. define

22.Many people like the slow........of life in the countryside.

A. step

B. pace


C. speed

D. space

23.Wild animals are........almost everywhere.

A. serious threatened




B. seriously threaten

C. seriously threatened



D. serious threaten

24.I don't think you are.........of how much this means to me.

A. aware

B. realised


C. known

D. understood

25.I can't find my purse anywhere; I must.........it at the cinema.

A. leave

B. have been leaving

C. be leaving

D. have left

II. Choose the underlined part among A, B, C or D that needs correcting.

26.(A) Some conservationists (B) attempt to save(C) rarity domestic farm animals, (D) such asthe Tamworth pig.

27.Because of habitat (A) lose, (B) there are(C) fewer Asian elephants than African (D) elephants.

28.(A) The mostdesert animals (b) avoid the extreme midday (c) heat by (d) feeding at night.

29.I (A) don't have to forget my key, (B) or I (C) won't(D) get in.

30.(A) As we had (B) plenty of(C) food we (D) mustn't go to. the supermarket.

III. Choose the one option (A, B, C or D) corresponding to the best sentence that is made up from the sets of words and phrases given.

31.Ed/ not need/register /new course
A. Ed did not need to register for the new course.

B. Ed did not need register for the new course.

C. Ed need not to register for the new course.

D.Ed need not register the new course.

32.You / do exact / manager / tell

A. You have to do exactly the manager tells you.

B. You must tell the manager to do exactly.

C. You must do exactly what the manager tells you.

D. You must do exact what the manager tells you.

33.It / rain / later / take / umbrella
A.It's going to rain; why not take an umbrella later?

B.It might rain later so take an umbrella.

C. It will rain sooner or later to take an umbrella.

D.It could rain, so take an umbrella later.

34.Louis / have difficulty /get / new table / car
A.Louis had difficulty getting the new table in the car.

B. Louis had difficulty to get the new table in the car.

C.Louis had difficulty with getting the new table in the car.

D. Louis had difficulty for getting the new table in the car.

35.When /I / be / school /I / not / wear / uniform 

A. When I was at school, I had not to wear a uniform.

B.When I was at school, I mustn't wear a uniform.

C. When I was at school, I didn't have to wear an uniform.

D. When I was at school, I didn't have to wear a uniform.

C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.

THE THREAT TO THE ENVIRONMENT

Nowadays people are more aware that wildlife all over the world is in danger.Many (36).........of animals are threatened, and could easily become (37)........if we do not make an effort to protect them. There are many (38)........for this. In some cases, animals are hunted for their fur or for othervaluable parts of their bodies. Some birds, such as parrots, are caught (39).........and sold as pets. For many animals and birds, the problem is thattheir habitat - the (40).........where they live - is disappearing. More (41).........is used for farms, for houses or industry, and there are fewer open (42).........than there once were. Farmers use powerful chemicals to helpthemgrowbetter(43)........,butthesechemicalspollutetheenvironment and (44)..........wildlife. The most successful animals onearth - human beings - will soon be the only Ones left, unless we can (45).........this problem.

36.A. marks


B. more

C. species

D. forms

37.A. disappeared

B. vanished

C. empty

D. extinct

38.A. reasons


B. causes

C. results

D. effects

39.A. lively


B. alive

C. for life

D. for living

40.A. spot


B. point

C. place

D. site

41. A. earth 


B. land 

C. soil 


D. area

42. A. spaces 


B. air 


C. up 


D. parts

43. A. products 

B. fields 

C. herbs 

D. crops

44. A. spoil 


B. harm 

C. wound 

D. wrong

45. A. answer 


B. calculate 

C. solve 

D. explain

II. Read the passage below and choose the best answer (.A, B, C or D) question.

Scientists believe they now have scientific evidence to pifove that ecosystems work better when there is a greater variety of specifes within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rain-forests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat.

When a natural ecosystem is simplified the basic processes in the ecosystem are altered arid even damaged. Without their biodiversity they are not able to serve as the natural cleaners of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the "greenhouse effect", and ultimately, or even sooner, there will be a change in the world's climate.

46.Which of the following is the best title for the passage?

A. How Ecosystems Work Better


B. The Loss of Biodiversity

C. The Variety of Species



D. Natural Mechanisms

47.Which of the following is NOT a species used to replace a rich ecosystem? 

A. Herbs


B. Pine

C. Eucalyptus
D. Rye

48.What is the purpose of paragraph 2?

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give examples of variety of species.

D. To show how ecosystems can work better.

49.What, according to the passage, might be the final result of the simplification of natural ecosystems?

A. The basic processes are altered.


B. There is loss of biodiversity.

C. There, is global warming.



D. There is a change in the climate. 

50.What is the author's attitude to the loss of biodiversity? 

A. Indifferent


B. Negative 

C. Positive

D. Neutral

The End
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UNIT 8 – LIFIE IN THE FUTURE

Choose the word whose underlined part is pronounced differently from that of the rest. 

1.
A. burden 
B. bureau 
C. burning 
D. stgrn


2.
A. device 
B. servile (of servant)
C. entice 
D. service

3.
A. terrorism 
B. tertiary 
C. terrible 
D. terrify

4.
A. blood 
B. food
C flood 
D. enough

5.
A. tried 
B. laughed 
C. typed 
D. liked

Choose the word or phrase (A, B, C or D) that best completes each sentence. 

6. ''You must have had a very good time on holiday." "__________, it was a disaster. Everything went wrong." 


A. By tradition 
B. In short 
C. On the condition 
D. On the contrary 

7. There are _______ways of spending your free time, so you can choose to do whatever you like. 


A. scanty 
B. various 
C. ridiculous 
D. variety 

8. They are trying to persuade the rich to__________their money to the charities. 


A. provide 
B. invest 
C. finance 
D. contribute 

9. Local authorities have to learn to allocate resources__________.


A. efficient 
B: efficiency 
C. inefficient 
D. efficiently 

10. Thousands of factory workers are attending evening classes in an attempt to______themselves. 


A. better 
B. be better 
C. being better
D. better than 

11. He eats nothing __________hamburgers. 


A. but 
B. unless 
C. despite 
D. apart 

12. He worked hard __________a mechanic for ten years before being appointed manager. 


A. like 
B. alike 
C. as
D. same as

13. This organization is quick
sending relief goods to the flooded areas. 


A. with 
B. at 
C. for 
D. about 

14. When are you leaving__________Singapore? This week or next week? 


A. for 
B. in 
C. to 
D. at 

15. He suddenly saw Cindy__________the room, so he pushed his way__________the crowd of people to get to her. 


A. across/through 
B. over/through 
C. over / over 
D. through/ across 

16. The doctor will not give the patient the test results__________tomorrow. 


A. until 
B. from 
C. at 
D. on 

17. Can you help me, please? I can't see the difference__________these words. 


A. from 
B. in 
C. between 
D. about 

18. I don't understand this point. Could you please__________? 


A. explain to me it 
B. explain me with it 
C. explain it to me 
D. explain it for me 

19. That house reminds me __________the one where I used to live. 


A. of 
B. for 
C. about 
D. with 

20. It was very kind__________you to lend me the money I needed. 


A. for 
B. of 
C. to 
D. with 

21. The bus hit a truck coming __________the opposite direction 


A. in 
B. at 
C. for 
D. by 

22. The company made very good profit in __________. 


A. the 1990 
B. 1990s 
C. the 1990s 
D. 1990's 

23. Alex failed his English exam, but his teacher is going to give him ________chance to .pass it. 


A. another 
B. the other 
C. the others 
D. other 

24. Her eyes are different colors. One eye is gray, and 
is green. 


A. another 
B. the other 
C. the others 
D. other 

25. __________him the whole truth or he'll get angry with you. 


A. If you don't tell 
B. Unless you tell 
C. Don't tell 
D. When you tell 

26. This is the strangest case that the detective__________. 


A. has ever investigated 
B. is ever investigating 


C. ever investigates 

D. has never investigated 

27. To reduce air pollution, __________. 


A. all automobiles necessary to be banned from the city center 


B. banning all automobiles from the city center should be done 


C. it is necessary banning all automobiles from the city center 


D. the authorities should ban all automobiles from the city center 

28. Fred refused to travel by air because he was afraid of __________. 


A. long 
B. lengths 
C. heights 
D. high 

29. Don't worry! The plane __________at the airport right now. 


A. arrives 
B. arrived 
C. has arrived 
D. is arriving 

30. __________about the good news, Sarah seemed to be indifferent. 


A. In spite of exciting 
B. In addition to exciting 


C. In stead of being excited 
D. Because of being excited 

31. He __________for that company for five months when it went bankrupt. 


A. has been worked 
B. has worked 


C. had been working 
D. was working 

32. " __________does Joe like his new motorbike?" "He's crazy about it." 


A. How 
B. What 
C. When
D. Why

33. Some people think__________ to master a foreign language. However, it isn't. 


A. it’s easy
B. easy 
C. easily
D. it is easily 

34. When his parents died, they __________him a house in which he still lives. 


A. continued
B. from earning
C. inherited 
D. saved 

35. Most people prefer spending money __________it. 


A. than earning 
B. from earning 
C. to earn 
D. to earning 

Choose the underlined part in each sentence that should be corrected. 

36. Scientists sent an expedition to the Mars during the 1990s.

 
A
B
C
D

37. Mr. Carlos, along by his cousins from Mexico City, is planning to attend the festivities. 


A
B
C
D

38. Do you think you could lend me good pair of gloves to wear to the wedding? 


A
B
C
D

39. You had better to tell her the truth or she'll get angry with you. 


A
B
C
D

40. Many superstitions and symbols are connected for Halloween. 


A
B
C
D

Choose the item (A, B, C or D) that bes.t completes the following sentences.

One of the greatest advantages of robots is that they can work in situations that are dangerous or harmful for human workers. For example, the continuous smell of paint has a harmful effect on painters, but it doesn't "bother" a robot. Robots can work in nuclear power plants and in undersea research stations that might be dangerous for humans. Already, robots are working in the plastics industry and in chemical and industrial equipment industries. One of the most common uses of robots is still in automobile factories. They can do the heavy, unpleasant, or dangerous work. These kinds of industrial robots are not usually "mobile". The work they need to do is brought to them, like cars on an assembly line, for example. 

The robot industry is a big business. By the middle of the 1990s, Japan' led the world in robot production with more than 71,000 industrial robots at work. Both the United States and Japan, as well as other countries, continue to develop more advanced robots. Robots can now be made to perform more complex jobs. Robots can make decisions while they are working and learn from their mistakes. Robots can now see with TV camera "eyes." They can easily hear and can even speak using a voice made by a computer. But it is difficult to make a robot "understand." Thinking. and understanding are very human qualities. The robots of the future will probably be very complex. They will be able to perform many humanlike tasks. Robots and other technology will make the future a very interesting place!

41. We can infer from the passage that by the middle of the 1990s__________.


A. only Japan had used robots in production 


B. Japan and the USA were the only countries to use robots 


C. some countries had used robots in industrial production 


D. Japan led the world in production thanks to robots 

42. Which of the following are robots NOT be able to do? 


A. To speak using a voice made by a computer 


B. To think and understand 


C. To make decisions at work 


D. To learn from mistakes 

43. According to the passage, which of the following is NOT true about the robots of the future? 


A. They will probably be very complicated.


B. They will be able to do humanlike tasks. 


C. They will contribute to making the future more interesting. 


D. They will replace human workers in all kinds of work. 

44. Which of the following is closest in meaning to the word "bother" in the first paragraph? 


A. cancel
B. change
C. upset
D. terminate

45. Which of the following can be the opposite of the word "mobile" in the first paragraph? 


A. stationary 
B. movable
C. unthinkable 
D. repairable

Choose the word or phrase (A, B, C, or D) that best fits each space in the following passage. 

We know that there is no life on Mars. The Viking robot missions to the Red Planet proved that. The mission was (46)________to one man for the most part. Percival Lowell, a rich American businessman, suggested that Mars contained life. He was fascinated by Mars. He spent 23 years studying it. He was so (47)________involved in the search for Martian life that he built his own laboratory. It housed a huge telescope. At 7,000 feet (2.13km) (48)________sea level in a dry climate, it was a perfect site to view Mars. Lowell believed that he saw a network of lines (49)________Mars. He also thought that the lines were built by intelligent life. There was also the chance that water was on the planet. He drew many maps in his notebooks. His idea (50)________the public's attention. People soon believed that life on Mars could exist. 

46.
A. due 
B. because 
C. except 
D. instead 

47. 
A. deep 
B. deeply 
C. depth 
D. deepen 

48.
A. on 
B. over 
C. above 
D. up 

49.
A. cross 
B. crossing 
C. to cross 
D. crossed 

50.
A. made 
B. achieved 
C. absorbed 
D. drew 

------THE END------

KEY – UNIT 8: LIFE IN THE FUTURE

Choose the word whose underlined part is pronounced differently from that of the rest. 

1.
A. burden 
B. bureau 
C. burning 
D. stgrn


2.
A. device 
B. servile (of servant)
C. entice 
D. service
3.
A. terrorism 
B. tertiary 
C. terrible 
D. terrify

4.
A. blood 
B. food
C flood 
D. enough

5.
A. tried 
B. laughed 
C. typed 
D. liked

Choose the word or phrase (A, B, C or D) that best completes each sentence. 

6. ''You must have had a very good time on holiday." "__________, it was a disaster. Everything went wrong." 


A. By tradition 
B. In short 
C. On the condition 
D. On the contrary 

7. There are _______ways of spending your free time, so you can choose to do whatever you like. 


A. scanty 
B. various 
C. ridiculous 
D. variety 

8. They are trying to persuade the rich to__________their money to the charities. 


A. provide 
B. invest 
C. finance 
D. contribute 

9. Local authorities have to learn to allocate resources__________.


A. efficient 
B: efficiency 
C. inefficient 
D. efficiently 

10. Thousands of factory workers are attending evening classes in an attempt to______themselves. 


A. better 
B. be better 
C. being better
D. better than 

11. He eats nothing __________hamburgers. 


A. but 
B. unless 
C. despite 
D. apart 

12. He worked hard __________a mechanic for ten years before being appointed manager. 


A. like 
B. alike 
C. as
D. same as

13. This organization is quick
sending relief goods to the flooded areas. 


A. with 
B. at 
C. for 
D. about 

14. When are you leaving__________Singapore? This week or next week? 


A. for 
B. in 
C. to 
D. at 

15. He suddenly saw Cindy__________the room, so he pushed his way__________the crowd of people to get to her. 


A. across/through 
B. over/through 
C. over / over 
D. through/ across 

16. The doctor will not give the patient the test results__________tomorrow. 


A. until 
B. from 
C. at 
D. on 

17. Can you help me, please? I can't see the difference__________these words. 


A. from 
B. in 
C. between 
D. about 

18. I don't understand this point. Could you please__________? 


A. explain to me it 
B. explain me with it 
C. explain it to me 
D. explain it for me 

19. That house reminds me __________the one where I used to live. 


A. of 
B. for 
C. about 
D. with 

20. It was very kind__________you to lend me the money I needed. 


A. for 
B. of 
C. to 
D. with 

21. The bus hit a truck coming __________the opposite direction 


A. in 
B. at 
C. for 
D. by 

22. The company made very good profit in __________. 


A. the 1990 
B. 1990s 
C. the 1990s 
D. 1990's 

23. Alex failed his English exam, but his teacher is going to give him ________chance to .pass it. 


A. another 
B. the other 
C. the others 
D. other 

24. Her eyes are different colors. One eye is gray, and 
is green. 


A. another 
B. the other 
C. the others 
D. other 

25. __________him the whole truth or he'll get angry with you. 


A. If you don't tell 
B. Unless you tell 
C. Don't tell 
D. When you tell 

26. This is the strangest case that the detective__________. 


A. has ever investigated 
B. is ever investigating 


C. ever investigates 

D. has never investigated 

27. To reduce air pollution, __________. 


A. all automobiles necessary to be banned from the city center 


B. banning all automobiles from the city center should be done 


C. it is necessary banning all automobiles from the city center 


D. the authorities should ban all automobiles from the city center 

28. Fred refused to travel by air because he was afraid of __________. 


A. long 
B. lengths 
C. heights 
D. high 

29. Don't worry! The plane __________at the airport right now. 


A. arrives 
B. arrived 
C. has arrived 
D. is arriving 

30. __________about the good news, Sarah seemed to be indifferent. 


A. In spite of exciting 
B. In addition to exciting 


C. In stead of being excited 
D. Because of being excited 

31. He __________for that company for five months when it went bankrupt. 


A. has been worked 
B. has worked 


C. had been working 
D. was working 

32. " __________does Joe like his new motorbike?" "He's crazy about it." 


A. How 
B. What 
C. When
D. Why

33. Some people think__________ to master a foreign language. However, it isn't. 


A. it’s easy
B. easy 
C. easily
D. it is easily 

34. When his parents died, they __________him a house in which he still lives. 


A. continued
B. from earning
C. inherited 
D. saved 

35. Most people prefer spending money __________it. 


A. than earning 
B. from earning 
C. to earn 
D. to earning 

Choose the underlined part in each sentence that should be corrected. 

36. Scientists sent an expedition to the Mars during the 1990s.

 
A
B
C
D

37. Mr. Carlos, along by his cousins from Mexico City, is planning to attend the festivities. 


A
B
C
D

38. Do you think you could lend me good pair of gloves to wear to the wedding? 


A
B
C
D

39. You had better to tell her the truth or she'll get angry with you. 


A
B
C
D

40. Many superstitions and symbols are connected for Halloween. 


A
B
C
D
Choose the item (A, B, C or D) that bes.t completes the following sentences.

One of the greatest advantages of robots is that they can work in situations that are dangerous or harmful for human workers. For example, the continuous smell of paint has a harmful effect on painters, but it doesn't "bother" a robot. Robots can work in nuclear power plants and in undersea research stations that might be dangerous for humans. Already, robots are working in the plastics industry and in chemical and industrial equipment industries. One of the most common uses of robots is still in automobile factories. They can do the heavy, unpleasant, or dangerous work. These kinds of industrial robots are not usually "mobile". The work they need to do is brought to them, like cars on an assembly line, for example. 

The robot industry is a big business. By the middle of the 1990s, Japan' led the world in robot production with more than 71,000 industrial robots at work. Both the United States and Japan, as well as other countries, continue to develop more advanced robots. Robots can now be made to perform more complex jobs. Robots can make decisions while they are working and learn from their mistakes. Robots can now see with TV camera "eyes." They can easily hear and can even speak using a voice made by a computer. But it is difficult to make a robot "understand." Thinking. and understanding are very human qualities. The robots of the future will probably be very complex. They will be able to perform many humanlike tasks. Robots and other technology will make the future a very interesting place!

41. We can infer from the passage that by the middle of the 1990s__________.


A. only Japan had used robots in production 


B. Japan and the USA were the only countries to use robots 


C. some countries had used robots in industrial production 


D. Japan led the world in production thanks to robots 

42. Which of the following are robots NOT be able to do? 


A. To speak using a voice made by a computer 


B. To think and understand 


C. To make decisions at work 


D. To learn from mistakes 

43. According to the passage, which of the following is NOT true about the robots of the future? 


A. They will probably be very complicated.


B. They will be able to do humanlike tasks. 


C. They will contribute to making the future more interesting. 


D. They will replace human workers in all kinds of work. 

44. Which of the following is closest in meaning to the word "bother" in the first paragraph? 


A. cancel
B. change
C. upset
D. terminate

45. Which of the following can be the opposite of the word "mobile" in the first paragraph? 


A. stationary 
B. movable
C. unthinkable 
D. repairable

Choose the word or phrase (A, B, C, or D) that best fits each space in the following passage. 

We know that there is no life on Mars. The Viking robot missions to the Red Planet proved that. The mission was (46)________to one man for the most part. Percival Lowell, a rich American businessman, suggested that Mars contained life. He was fascinated by Mars. He spent 23 years studying it. He was so (47)________involved in the search for Martian life that he built his own laboratory. It housed a huge telescope. At 7,000 feet (2.13km) (48)________sea level in a dry climate, it was a perfect site to view Mars. Lowell believed that he saw a network of lines (49)________Mars. He also thought that the lines were built by intelligent life. There was also the chance that water was on the planet. He drew many maps in his notebooks. His idea (50)________the public's attention. People soon believed that life on Mars could exist. 

46.
A. due 
B. because 
C. except 
D. instead 

47. 
A. deep 
B. deeply 
C. depth 
D. deepen 

48.
A. on 
B. over 
C. above 
D. up 

49.
A. cross 
B. crossing 
C. to cross 
D. crossed 

50.
A. made 
B. achieved 
C. absorbed 
D. drew 

------THE END------

UNIT 10 – ENDANGERED SPECIES

 Circle the word whose underlined part is pronounced differently from that of the others

1. A. bamboo
B. good
C. foot
D. cook

2. A. cake
B. panda
C. face
D. late

3. A. social
B. science
C. sour
D. sure

Circle the word whose stress part is placed differently from that of the others
4. A. reserve
B. schedule
C. wildlife
D. beauty

5. A. derive
B. contain
C. leopard
D. prevent 

Make the correct choice:

6. Many plants and endangered species are now endangering of _______. 


A. expression
B. expulsion
C. extinction
D. extension

7. _______ is destroying larger areas of tropical rain forests. 


A. Disforestation
B. Deforestation
C. Anti-forestation
D. forests

8. A lot of different conservation efforts have been made to________endangered species. 


A. save
B. kills
C. make
D. do 

9. The raw sewage needs to be ________ treated. 


A. chemically
B. chemical
C. chemist
C. chemistry

10. There are more than 20 ________ working on the water treatment project. 


A. researches
B. researcher
C. researchers
D. research

11. More and more people __________ of food poisoning nowadays. 


A. exits
B. survive
C. die
D. starve

12. The government _________ the flood victims with food, clothers and money. 


A. gave
B. provided
C. offered
D. presented 

13. Many people _________ that natural resources will never be used up. 


A. view
B. consider
C. believe
D. regard

14. Conservation is the protection of the _________ environment. 


A. nature
B. natural
C. naturally
D. naturalize

15. There are many ________ of pollution in our modern world 


A. resources
B. sources
C. foundations 
D. bases

16. You ________ ask a woman about her age. It’s not polite. 


A. must
B. need
C. musn’t 
D. needn’t

17. Pay attention ________ all traffic signs when you are travelling in the street. 


A. for
B. on 
C. to 
D. from 

18. Their plans were cancelled _______ of a bad storm. 


A. in spite
B. because
C. instead
D. in place

19. I’ll lend you the money and you ________ pay me back till next month. 


A. needn’t
B. mustn’t
C. need
D. must

20. You should change your wet shoes,________ you’ll catch cold 


A. therefore
B. or
C. if
D. unless

21. The twins used to play rugby when they were four year old, ________ ?


A. don’t they
B. didn’t they
C. didn’t used they
D. did they

22. You would rather _________ talking in class so as not to make your teacher angry. 


A. stops
B. stopping
C. to stop
D. stop

23. I’ve got __________ money to lend you now. I think you can ask Lyn for some. 


A. few
B. a few 
C. little
D. a little

24. To tell the truth, Aim frightened ________ ghosts. 


A. for
B. on
C. with
D. of

25. Tell her that she ________ be here by six. I insist on it. 


A. may
B. must
C. ought to 
D. might

26. He hurried _________ he wouldn’t be late for class. 


A. since
B. as if 
C. unless
D. so that

27. There should be no discrimination _______ grounds of sex race or religion 


A. on
B. at
C. of
D. in 

28. He has refused, but he _________ change his mind if you asked him again 


A. might
B. may
C. can
D. must

29. Two parallel white lines in the millde road meant that you _________ not overtake. 


A. must
B. might
C. may
D. need

30. There’s _______ university in my neighborhood. 


A. an
B. a
C. the 
D. Φ

Choose the underlined words that need correcting.
31. The bus will be leaving on five minutes so you’d better hurry up. 


A
 B
 C
D

32. Many teachers have devoted their lives to teaching, therefore teaching is not a well-paid job. 

 
A
B
C
D

33. My parents often take careful of me when I am ill. 

 
A
B
C
D

34. She passed the board exam, who made her parents proud. 

 
A
B
C
D

35. Lack of properly physical exercise cause tiredness and poor health.

 
A
B
C 
D

Read the passage and choose the best answers. 
World Wildlife Fund (WWF) safeguards hundreds of species around the world, but we focus species attention on our flagship species: giant pandas, tigers, endangered whales and dolphins, rhinos, elephant, marine turtles and great apes. These species not only need species measures and extra protection in order to survive, they also serve as “umbrella” species: helping them helps numerous other species that live in the same habitats. 

In addition to our flagship animals, we work to protect numerous species in peril around the world that live within our priority eco-rigions. Laree predators like snow leopards and grizzly bears, migratory species like whooping cranes and songbrids, and a host of other species facing threats also benefit from WWF’ s conservation efforts. Our wildlife trade experts at “traffic” work to ensure that trade wildlife products, doesn’t harm a species, while also fighting against illegal and unsustainable trade. 

WWF is known for acting sound science. Science leads and guides us strategies and approaches, from the way to restore tigers in viable, breed population to decide which areas need protection the most. 

36. What does WWF stand for?


A. World Wildlife Food. 
B. World Wildlife Formation. 


C. World Wildlife Fund. 
D. World Website Fund. 

37. How many species do we pay much attention to?


A. 5
B. 8
C. 7
D. 9

38. What is the meaning of the world habitats in pharagraph 1?


A. The place where animals or plants are normally found. 


B. The place where animals or plants can drink and sleep. 


C. The place where animals or plants can eat find their enemy. 


D. The place where animals can find and keep their body warm. 

39. What can science help us in safeguarding endangered species?


A. Find the way to kill all species easily. 
B. Lead and guide strategies and approaches. 


C. Discover another habitat of animal. 
D. Search for a food source for animals. 

40. Which of the following is not stated in the passage?


A. WWF safeguards hundreds of species around the world. 


B. WWF is known for acting on sound science. 


C. these above species need extra protection so as not to be extinct. 


D. All species are so fierce that scientists can’t take care of them. 

Read and choose the appropriate option:
WHY DO ANIMALS GO EXTINCT?


Different kinds of animals have appeared and disappeared throughout Earth’s history. Some animals go extinct because the climate (41)_______ they live changes. The climate may become wetter or drier. It may become warmer or cooler. If the animals cannot change, or adapt, to the new climate, they die. 


Some animals go extinct because thay cannot (42) _______ with other animals for food. Some animals go extinct because they are killed by enemies. New kinds of animals are always evolving. Evolving means that the animals are changing (43) _______ from generation to generation. Small differences between parents, children, and grandchildren slowly add up over many, many generations. Eventually, a different kind of animal evolves. [evolve: tiến hóa]

Sometimes many of the animals on Earth go extinct at the (44) _______ time. Scientists call this a mass extinction. Scientists think there (45) _______ at least five mass extinctions in Earth’s history. The last mass extinction happened about 65 million years ago. This mass extinction killed off the dinosaurs. 

41. A. where
B. which
C. when
D. what

42. A. complete
B. find
C. compete
D. exist

43. A. accidentally
B. suddenly
C. quickly
D. slowly

44. A. same
B. similar
C. different
D. various

45. A. has been
B. have been
C. will be
D. are

Choose the sentence which is closest in meaning to the original one. 
46. The gate was closed to stop the children running into the road. 


A. The gate was closed so the children running into the road. 


B. The gate is closed so that children don’t run into the road. 


C. The gate was closed so that the children couldn’t run into the road. 


D. The gate is closed that the children couldn’t to run into the road. 

47. My Indian friend finds using chopsticks difficult. 


A. My Indian friend is not used to using chopsticks. 


B. My Indian friend can’t use chopsticks. 


C. My Indian friend didn’t use to using chopsticks. 

48. Too tired to continue, David stopped walking. 


A. David couldn’t carry on walking because he was too tired. 


B. David couldn’t stop walking because he was to tired. 


C. David was too tired to carry out walking. 


D. David can’t continue to walk when he’ stirred. 

49. I haven’t met old English teacher since I left school. 


A. I didn’t have a chance to meet my old English teacher because I left school. 


B. this is the last time I met my old English teacher at shool. 


C. I last met my old English teacher when I left school. 


D. My old English teacher hasn’t met me since I have left school. 

50. Tom didn’t begin to read until he was eight. 

 
A. It was not until Tom was eight that he began to read. 


B. When Tom was eight, he didn’t know how to read. 


C. Tom had read when he was Wight to read. 
D. Not until Tom read, he was eight. 

-----------THE END-----------

KEY: UNIT 10 – ENDANGERED SPECIES
Circle the word whose underlined part is pronounced differently from that of the others

1. A. bamboo
B. good
C. foot
D. cook

2. A. cake
B. panda
C. face
D. late

3. A. social
B. science
C. sour
D. sure
Circle the word whose stress part is placed differently from that of the others
4. A. reserve
B. schedule
C. wildlife
D. beauty

5. A. derive
B. contain
C. leopard
D. prevent 

Make the correct choice:

6. Many plants and endangered species are now endangering of _______. 


A. expression
B. expulsion
C. extinction
D. extension

7. _______ is destroying larger areas of tropical rain forests. 


A. Disforestation
B. Deforestation
C. Anti-forestation
D. forests

8. A lot of different conservation efforts have been made to________endangered species. 


A. save
B. kills
C. make
D. do 

9. The raw sewage needs to be ________ treated. 


A. chemically
B. chemical
C. chemist
C. chemistry

10. There are more than 20 ________ working on the water treatment project. 


A. researches
B. researcher
C. researchers
D. research

11. More and more people __________ of food poisoning nowadays. 


A. exits
B. survive
C. die
D. starve

12.The government _________ the flood victims with food, clothers and money. 


A. gave
B. provided
C. offered
D. presented 

13. Many people _________ that natural resources will never be used up. 


A. view
B. consider
C. believe
D. regard

14. Conservation is the protection of the _________ environment. 


A. nature
B. natural
C. naturally
D. naturalize

15. There are many ________ of pollution in our modern world 


A. resources
B. sources
C. foundations 
D. bases

16. You ________ ask a woman about her age. It’s not polite. 


A. must
B. need
C. musn’t 
D. needn’t

17. Pay attention ________ all traffic signs when you are travelling in the street. 


A. for
B. on 
C. to 
D. from 

18. Their plans were cancelled _______ of a bad storm. 


A. in spite
B. because
C. instead
D. in place

19.l lend you the money and you ________ pay me back till next month. 


A. needn’t
B. mustn’t
C. need
D. must

20. You should change your wet shoes,________ you’ll catch cold 


A. therefore
B. or
C. if
D. unless

21. The twins used to play rugby when they were four year old, ________ ?


A. don’t they
B. didn’t they
C. didn’t used they
D. did they
22. You would rather _________ talking in class so as not to make your teacher angry. 

A. stops
B. stopping
C. to stop
D. stop
23. I’ve got __________ money to lend you now. I think you can ask Lyn for some. 


A. few
B. a few 
C. little
D. a little
24. To tell the truth, Aim frightened ________ ghosts. 


A. for
B. on
C. with
D. of
25. Tell her that she ________ be here by six. I insist on it. 


A. may
B. must
C. ought to 
D. might

26. He hurried _________ he wouldn’t be late for class. 


A. since
B. as if 
C. unless
D. so that
27. There should be no discrimination _______ grounds of sex race or religion 


A. on
B. at
C. of
D. in 

28. He has refused, but he _________ change his mind if you asked him again 


A. might
B. may
C. can
D. must

29. Two parallel white lines in the millde road meant that you _________ not overtake. 


A. must
B. might
C. may
D. need

30. There’s _______ university in my neighborhood. 


A. an
B. a
C. the 
D. Φ

Choose the underlined words that need correcting.
31. The bus will be leaving on five minutes so you’d better hurry up. 


A
 B
 C
D

32. Many teachers have devoted their lives to teaching, therefore teaching is not a well-paid job. 

 
A
B
C
D
33. My parents often take careful of me when I am ill. 

 
A
B
C
D

34. She passed the board exam, who made her parents proud. 

 
A
B
C
D

35. Lack of properly physical exercise cause tiredness and poor health.

 
A
B
C 
D

Read the passage and choose the best answers. 
World Wildlife Fund (WWF) safeguards hundreds of species around the world, but we focus species attention on our flagship species: giant pandas, tigers, endangered whales and dolphins, rhinos, elephant, marine turtles and great apes. These species not only need species measures and extra protection in order to survive, they also serve as “umbrella” species: helping them helps numerous other species that live in the same habitats. 

In addition to our flagship animals, we work to protect numerous species in peril around the world that live within our priority eco-rigions. Laree predators like snow leopards and grizzly bears, migratory species like whooping cranes and songbrids, and a host of other species facing threats also benefit from WWF’ s conservation efforts. Our wildlife trade experts at “traffic” work to ensure that trade wildlife products, doesn’t harm a species, while also fighting against illegal and unsustainable trade. 

WWF is known for acting sound science. Science leads and guides us strategies and approaches, from the way to restore tigers in viable, breed population to decide which areas need protection the most. 

36. What does WWF stand for?


A. World Wildlife Food. 
B. World Wildlife Formation. 


C. World Wildlife Fund. 
D. World Website Fund. 
37. How many species do we pay much attention to?


A. 5
B. 8
C. 7
D. 9

38. What is the meaning of the world habitats in pharagraph 1?


A. The place where animals or plants are normally found. 


B. The place where animals or plants can drink and sleep. 


C. The place where animals or plants can eat find their enemy. 


D. The place where animals can find and keep their body warm. 

39. What can science help us in safeguarding endangered species?


A. Find the way to kill all species easily. 
B. Lead and guide strategies and approaches. 


C. Discover another habitat of animal. 
D. Search for a food source for animals. 

40. Which of the following is not stated in the passage?


A. WWF safeguards hundreds of species around the world. 


B. WWF is known for acting on sound science. 


C. these above species need extra protection so as not to be extinct. 


D. All species are so fierce that scientists can’t take care of them. 

Read and choose the appropriate option:
WHY DO ANIMALS GO EXTINCT?


Different kinds of animals have appeared and disappeared throughout Earth’s history. Some animals go extinct because the climate (41)_______ they live changes. The climate may become wetter or drier. It may become warmer or cooler. If the animals cannot change, or adapt, to the new climate, they die. 


Some animals go extinct because thay cannot (42) _______ with other animals for food. Some animals go extinct because they are killed by enemies. New kinds of animals are always evolving. Evolving means that the animals are changing (43) _______ from generation to generation. Small differences between parents, children, and grandchildren slowly add up over many, many generations. Eventually, a different kind of animal evolves. [evolve: tiến hóa]

Sometimes many of the animals on Earth go extinct at the (44) _______ time. Scientists call this a mass extinction. Scientists think there (45) _______ at least five mass extinctions in Earth’s history. The last mass extinction happened about 65 million years ago. This mass extinction killed off the dinosaurs. 

41. A. where
B. which
C. when
D. what

42. A. complete
B. find
C. compete
D. exist

43. A. accidentally
B. suddenly
C. quickly
D. slowly
44. A. same
B. similar
C. different
D. various

45. A. has been
B. have been
C. will be
D. are

Choose the sentence which is closest in meaning to the original one. 
46. The gate was closed to stop the children running into the road. 


A. The gate was closed so the children running into the road. 


B. The gate is closed so that children don’t run into the road. 


C. The gate was closed so that the children couldn’t run into the road. 


D. The gate is closed that the children couldn’t to run into the road. 

47. My Indian friend finds using chopsticks difficult. 


A. My Indian friend is not used to using chopsticks. 


B. My Indian friend can’t use chopsticks. 


C. My Indian friend didn’t use to using chopsticks. 

48. Too tired to continue, David stopped walking. 


A. David couldn’t carry on walking because he was too tired. 


B. David couldn’t stop walking because he was to tired. 


C. David was too tired to carry out walking. 


D. David can’t continue to walk when he’ stirred. 

49. I haven’t met old English teacher since I left school. 


A. I didn’t have a chance to meet my old English teacher because I left school. 


B. this is the last time I met my old English teacher at shool. 


C. I last met my old English teacher when I left school. 


D. My old English teacher hasn’t met me since I have left school. 

50. Tom didn’t begin to read until he was eight. 

 
A. It was not until Tom was eight that he began to read. 


B. When Tom was eight, he didn’t know how to read. 


C. Tom had read when he was Wight to read. 
D. Not until Tom read, he was eight. 

-----------THE END-----------

